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ENTRANCE EXAMINATION - JUN 2025
SUBJECT: MATHEMATICS

TIME: 1Hr 30 Mins
fdw [ slnstructions

1 T 30 T D) & PRI | Y IR 9
' I i\ g swers
the answer sheet provided at the exam cent?? il o -

3 o ' A 0 O ol 8, o g 20 e ¥ / Part 'A’ contalns 20 questions and each question /

carries ‘Five marks', .
3w @ T Sl @ § o T 10 e il 1 question in this P2
carries 'Ten marks’ s &| / Part 'B’ contalns 10 questions and €a¢ q

f ; d
o e ® T T W o & R0 AR R W/ yse of Calelator s Prohiblted. Marks Wit be awarde
stepwise.
5. P A 2—72-1?@1? | / Take the value of 7 asg/
e 3 718 T WA B S W T 81/ The question paper can be retained by the candidates post exar-

iz 200

Separately on

n this part

Xo=

Ql =R v 20% W W awar e ¢l 3T 5 10% w7 fAT | Taer A 30/ s FA T 4, Wﬂl
R o1 3 2006 1 I G| 9 A v e 0 &7/ Savita wants to sell a watch at a profit of 20 % She bought it
10% less and sold it at Rs 30/- less, but still gained 20%. What is the cost price of the watch?

Q2 waﬁmw:ﬂﬁ@ﬂwwm%lﬁﬁw4mmm?,mmma’%#aﬁ2mmw

ST B 10 Fex S @ & 9 o g A 5 RrereT WA w9 / A snail is crawling up a wet pole. Every hour it
climbs 4 meters, but it slips down 2 meters in the next 30 minutes. How long will it take for the snail to reach
the top of a 10-meter pole?

Q3 g oY Ww A T g I I 5650 A W, g o 7w 0% € A 3 g T 55% FE
e ww & R @e fAen / An election was contested by Rahul and Sohail. In all there were 5650 votes,
80% of the total votes were polled. If Rahul got 55% of the votes polled, how many votes did Sohail get?

Q4 T O i 3 A HET T AT 5 913 § qoie: Rewr gl / Find the smallest five-digit number
which is exactly divisible by 913.

Q.5 mmmfawmwsaﬁm%lmwﬁéﬂ%mﬁml aﬁaw?ra@#rwﬁmm, ar
T g8 g e g / The total surface area of a cube is 486 cm? Find the length of its edge. If the edge is
increased by 3 cm, what will be the new surface area?

Faw RT & AD, BC & WA §| Foree Tger ABCD F g T Sfewl / In the adjoining figure, AD is

parallel to BC. Find the area of the trapezium ABCD.

13 Cm c

D 8Cm
3Cm

A B
. =328andy = V27.%1 717 i e
Q7 af/lfx=Y28andy 327 @ 71 7 &t/ Find the value of / X + Y et

Q8 gl % af AXVZ N ALMNHETG feger ¥ 2B #1Y T Firel / In fig, if AXYZ and ALMN are
equilateral triangles, then find the measures of 2ZAB.
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: 2/ A soli ' i o R i
siret garé o @t 87 / A solid metallic sphere of diameter g cm is me] , mall spherical by
each of diameter 2 cm. How many such small balls can be made? et e ¢ S.

Q10 awg N W qET W Hfh frar ST ¥ R 2504 T gy TS AR 12
TR T S . ¥l v PR ge & 7 95 o
@ ST g., T wfaerd I/ Articles are marked at 5 price which of Re & ¢ 25%, After allowing o
certain discount, the profit reduces to 12 % %. Find the discount per theS a profit o
cent.

Q11 UF ¥ W GAE 8 T B far ¥ W 24 6 i 4 RTE ok a5 oy &) s R o T A 1w =
Ry & W §HT T 892 / A clock is set right at 8 am, The clock gains 10 minutes {n 24 hours- What will ba #
the true time when the clock indicates 1 pm on the following day. e 5
Q12 meﬁmmmﬁﬁwalWﬁmmﬁmwtemaﬁzﬁaﬁmtasom"”ﬁm“

fﬂﬁmﬁm@i‘ﬂﬂﬁa‘hﬁaﬁﬂﬁﬂgmﬁlﬂﬁmaﬂrﬁﬁrﬁm’rwwm@wéﬁﬁg &t T ¥ AT AT AR/

A rectangular room is twice as long as it is broad. The cost of flooring the room with tiles at Rs. 6 per m” comes
out to Rs. 360. The cost of painting the four walls at Rs. 12 per m? is Rs, 1920, If a door and two windows

occupy 10 m? find the dimensjons of the room.,

\,m FI & F¢ / Solve the cryptarithm /: ON + ON + ON + ON = GO or, 4 x ON = GO

Mw‘w&#wwmﬁ(mw IR FewH FATEdT (HCF) wer: 360 3t 12 ¥ oy oo aveft GCAmHt &1
3R 48 §, & 379 AR A Hferel / The LCM and HCF of two numbers are 360 and 12 respectively. If the
difference between the two numbers is 48, find the sum of the two numbers,

Q15 W« =t/ Simplify.
(15+9 G or13) + (35-13) or §-5§ + 28] or 2

Q16 31 v °5r F 20% W W dwem W ¥l I 5 10% FH Fod W @her AR 30/- TF FAH W A=, AT
o & 33 20% =7 &meF §3T| O3 &7 %9 o7 = §7 / Anu wants to sell a watch at a profit of 20%. She bought it at
10% less and sold it at Rs 30/- less, but still gained 20%. What is the cost price of the watch?

m HHaTE BT 1 SO 3V3 ¥ ¥| swe e W #ewl / The altitude of an equilateral triangle is

3v/3 cm. Calculate its area.

{Q18 & Tt #1 FHAH FAER AN AgHA FAERd wA: 462 AR 6 ¥ Tt @ A 108 ¥ wwAmst w7 s
7 Ffsw ] / The LMC & HCF of two numbers is 462 and 6 respectively. The sum of the numbers is 108. Find the

difference of the numbers.

Q19 T vw FF F 3 BT & F Fhal §, G 30 FH & 2 B & & FH6ew ¥ Q= Ao F7 @ W § 3R
150/- 393 wrer &1 7g @ fewr #2477 / Rohit can do a work in 3 days, Raghu can do the same work in 2 days.
Both of them finish the work together & get Rs 150/-. What is the share of Raghu?

Q20 o wpfaw weaEt F AT 15 ¥ IR geer e & 30 ey o 3R iRF dE H F 5 gerr I & s

17.5 gr e &1 e wpfae wead 87 / The average of some natural numbers is 15. If 30 is added to first
number & 5 is subtracted from the last number the average becomes 17.5. How many natural numbers are

there?

Q21 v Raf#er qw 50 e oar AR 15 Arex ey ¥ gwd S AW TR R w1 1/2 e AR 4 1/2 FHex my
¥ 3 97 @ a7 GAR &7 & e A & @ g F KA & [0 ERdwm G A (X H) A9 AR /A

1
swimming pool is 50m long & 15m wide, Its shallow & deep ends are 1-21-m and 47m deep respectively. If the
bottom of the pool slopes uniformly, find the amount of water required to fill the pool (in litres)?
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op st OC L AB ¥ 7% OF 7

%z & OEL ion is 44
he shaded regio
the area of the m?) \fOEis 7

Q22 A & T AT Y, ST A @ e 44 adF @ ¥l O AT T
fthe region POQR (in C

@ & @ POQR &1 &7 8wy (33t ¥t %) =/ &7 / In the figure given below,
cm2. O is the centre of the semicircle, OELOD and OCLAB. What is the aréa @

cm?

oo .|
(@]
i 7 ¢ dr %1 B, F
Q23 MWA'B'C'DvEmFamﬁ%ﬁ.mdﬁH#?ﬂme&ﬂqﬁa$WWH€;%;
%W@@Wﬂh%lC.Dwm%lA,memm&%ﬁ#ﬁsﬁﬁmﬁmm HTH
is not sitting at any end of

=i &7 #7 / Six friends A, B, C, D, E, and F are sitting in two rows, three in each row. D .
the rows. B is sitting second to the left of F.C is a neighbor of D.A is a neighbor of F. Arrange the members 1

rows. Who is sitting diagonally opposite to A?

Q24 Ferwed R #, v FeemeR & ABC &Rim I ¥, s 2BAC=30°
wer T § Rig A W oaiwr r ¥ A oar W 3R A & g #r AABC # waR
7@ =X @wer ¥1 / In adjoining figure, shows a triangular region ABC, in which 2BAC = 30° and AB
A cow is tethered to point A by a rope 13 cm long. Neither the rope nor the cow is allowed to enter AABC. Find

the area which can be grazed by the cow.

’ A

Zur AB=AC=10 & §| TF 7 Fr 13 /AT

r @ dr At Bl 9 8 T e S
=AC=10 cm.

B C

Q25. 42 ¥+ Iom 30 VA AT aren R Fr e F AR FA F 6 F TAF T A T Fe B TS §F BT e F A

ST FT FAAT T ASFT T G a1 GAdT Sl §| S AT &THT e Aowl / Square, each side 6 cm, are cut off
from four corners of a sheet of tin measuring 42 cm by 30 cm. The remaining portion of the tin sheet is made

into an open box by folding up the flaps. Find the capacity of the box.

Q26 %1,80,000 #r T Abhishek 3¥ Taran & i ¥ w&R W 7§ ¥ fF Abhishek ®r 2 awt & SToer WA, Taran &

3 et F we AR &7 A g1 | IR S A 5% #r wEARR & ¥ Eer ¥, A Abhishek ®T R Reerer g 2/
Rupees 1,80,000 is divided between Abhishek and Taran such that the amount Abhishek receives in 2 years is
equal to the amount Taran receives in 3 years. If the interest is compound
annum, what is Abhishek's share? pounded annually at the rate of 5% per
Q27 v fegmed & [Fwed # Rffe RYat A qEawt 1 sear Sere b
::mﬂséf:zm, aforeT=336| ﬁﬁ#wwm#w#wmmﬁmm%%muﬁ
T Tees & U Fedh & A et A Hem §A 8 s
et & 3w A SHENT F IR W et
Il;ollowing are the number of books of various subjects in a school’s library :
istory=96, Science=240, Mathematics=336.These books have to b I i i
stacks such that each stack contains books of only one subject and th: if;%geido&g:)il?mum ugher 9f
the same. Based on the above information, answer the following questions:- gt

() o ®F # el g sraeud § / How many books are arranged in each stack?
b asfr
(b) mﬂwww@mm*mmmmmme How many stacks

are used to arrange all the Mathematics books?
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(©  af W RF B s e B AE S AR R o st i omer 31 7w @ R T E
sﬁmﬁ,ﬁﬁmamnﬁaﬁrmwﬁmmn 15 3, 18 hr 3k 20 ¥sr & @ shgr, @A A IO
ﬁmw*m@rmmaﬁﬁm / 1f all the stacks are arranged in a line, side to side along the

length of each book. It its further given that length of each book of History, Science and Mathematics is
15 cm, 18 cm & 20 cm respectively, then find height of each stack of History, Science & Mathematics.

(@)  afx shgrw, R v aford @7 S R A Fwn 18 9, 22 B AT 25 T Y, A FOES,
R 3K AT & wede 3% & s we Aiferel / If the thickness of each book of History, Science and
Mathematics is 18 cm, 22 cm& 2.5 cm respectively, then find height of each stack of History, Science &

Mathematics.

Q.28 v MRS ST & WX HYRCT SIS @R O A SRR 3 € o 5440 9 @ur 5 o # 6400 9 & Il
¥ YeRIRY qur = &3 W @ferwl / The amount of certain sum of money with simple interest at a certain rate of
interest is Rs 5440 in 3 years and Rs 6400 in 5 years. Find the sum and the rate of interest.

Q.29 &« &=/ Solve 2:;'1 _% = Eg_z, 3 y T AT T diere af% / Hence find the value of y if / §+5 = 5.

Q30 fore T ww e a¥ # v T TN @R Riffe Aot W @ @ aE i # wier ¥ 3 gesta °
TF r 7 AR 9000 T9 ¥, & WEARET wAr F 3% &ferw / The following pie-chart represents the amount spent
on different sports by a school administration in a calendar year. If the money spent on football is Rs 9000,
answer the following questions:-

(@ et | F frae R @ Fr 77 / What is the total amount spent on sports? (4 Marks)

(b) TesTeT S el #F FT OX fhee 3w ARY @ A e §7 / How much more amount is spent on
hockey than football (4 Marks)

(© e qT frae T @ €7 smer ¥7 / What is the amount spent on cricket? (2 Marks)

PIE CHART

Basket
Ball'/

PV Tennl

Football / wearer 4508

_ Hockey /g 1000

ALL THE BEST
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